MOONKITCHEN 2.0 A2-55 "Oa"’ow
Assembly instructions ) (,Tﬂ.(]ﬂn’
Ly

Live light at
vandermoon.com



Since 1993, Vitberg has been producing medical products for
rehabilitation, treatment, cosmetology and sports.

Our products are well known and appreciated.

Medicine and technology are not our only passion,
We also love to explore the world.

We have turned the experience we have gained over the years into
the production of accessories for people like us.

This is how the Van Der Moon brand was born.

Made in Poland, EU.
www.vandermoon.com



Table of contents

Versions and configurations available 4
Set of elements 6
Assembly instructions 10
3 drawer (3D 10
Shelves (SH 34
Countertop for sink (€S 55
Full door 3/3 opening to the right side (DF-R 59
Full door 3/3 opening to the left side (DF-L 65
Flap/hinged doors (F 71
Door 2/3 opening to the right side (DS-R 76
Door 2/3 opening to the left side (DS-L 82
Flap/hinged doors and 2 drawers (F+2D 88
Drawer (D 119
Information on use 147

Moon Kitchen 2.0 A2-55 Assembly instructions | 3




Versions and configurations available

Full door 3/3 Full door 3/3 Drawer + door 2/3 Drawer + door 2/3
opening to the right side opening to the left side opening to the right side opening to the left side

Flap/hinged doors + door 2/3 Flap/hinged doors + door 2/3 3 drawers Flap/hinged doors + 2 drawers
opening to the right side opening to the left side

4 | Moon Kitchen 2.0 A2-55 Assembly instructions



Name Opening to the Opening to the ﬂ

right side left side
DF  full door 3/3 DF-R DF-L
DS door 2/3 DS-R DS-L

D drawer

F flap/hinged doors

C  countertop

Cs (ot

CS countertop for sink
Countertop for sink Countertop
SH  shelves

S SREEEER
SR SRR b

Version without perforation (F) Version without perforation (F) Version with perforation (P) Version with perforation (P)
— left flank — right flank — left flank — right flank

Moon Kitchen 2.0 A2-55 Assembly instructions | 5



MOONKITCHEN 2.0 A2-55

Set of elements ﬂ

Version without perforation (F)

Version with perforation (P)

P

V4.U10F - 1x

)

V4.U10P - 1x

V4.U11F - 1x

V4.U11P - 1x

a

V4.U12F - 1x

V4.U12P - 1x

|~

V4,U13F- 1x

)
QS
Q

V4.U13P- 1x

Common elements

55.1 - 1x

55.2 - 1x

6 | Moon Kitchen 2.0 A2-55 Assembly instructions



D+DS F+2D 1x

2x set (4 pcs) 450mm 1x set (2 pcs) 300mm

1x set (2 pcs) 450mm 1x set (2 pcs) 300mm

1x set (2 pcs) 450mm

V4.U8, V4.U9

55.C - Countertop - 1x

Cs

V4.U6, V4.U7
3D 2X
F+2D D+DS 1x

55.CS - Countertop for sink — 1x

3
V4.U15
3D Iy V4.US - Sink - 1x
F+2D 2x
D+DS 1x

Moon Kitchen 2.0 A2-55 Assembly instructions | 7




55.FS - Front 55.FM-R — Right front 55.FL-R — Right front 55.FM-L — Left front 55.FL-L — Left front
D+DS F+DS F+2D 1x D+DS-R F+DS-R 1x DF-R 1x D+DS-L F+DS-L  1x DF-L 1x

3D 3x

Brp N
N
U B
55.L - Lock 55.H - Hinges
55.DB 450 — Bottom drawer 55.DB 300 — Bottom drawer DF 1x F+DS 2x set (4 pcs)
3D 2x 3D F+2D 1x D+DS F+DS  2x DF) (D+DS) (F+2D) 1xset (2 pcs)
F+2D D+DS 1x 3D F+2D 3x

8 | Moon Kitchen 2.0 A2-55 Assembly instructions



)

<

CODE

M5x12

NS-L W M5

M4x10

NS-L W M4

WSS 4,2x13

Name

Washer bolt M5x12

Self-tapping nut with M5 flange

Washer bolt M4x10

Self-tapping nut with M4 flange

Wood shim screw 4,2x13

DF

54x

54x

16x

8x

D+DS

80x

74x

16x

8x

F+DS

54x

54x

32x

16x

CS 18x

3D

94x

88x

F+2D

86x

80x

16x

8x

Moon Kitchen 2.0 A2-55 Assembly instructions | 9




MOONKITCHEN 2.0 A2-55

3 drawers

10 | Moon Kitchen 2.0 A2-55 Assembly instructions



A\ P

M5x12 NS-L W M5
Ste p 1 Allen Spanner pcs 6x pcs 6x

V4.U12F

3D

Moon Kitchen 2.0 A2-55 Assembly instructions | 11



Version with perforation

3D

12 | Moon Kitchen 2.0 A2-55 Assembly instructions



A F

M5x12 NS-L W M5
Ste p 2 Allen Spanner pcs 16x pcs 16x

V4.U12F

3D

Moon Kitchen 2.0 A2-55 Assembly instructions | 13



Version with perforation

3D

14 | Moon Kitchen 2.0 A2-55 Assembly instructions



A\ P

M5x12 NS-L W M5
Ste p 3 Allen Spanner pcs 6x pcs 6x

V4.U11F

3D

Moon Kitchen 2.0 A2-55 Assembly instructions | 15



Version with perforation

Al o,
S

3D

16 | Moon Kitchen 2.0 A2-55 Assembly instructions



A P

M5x12 NS-L W M5
Ste p 4 Allen Spanner pcs 16x pcs 16x

°
goeos

O B
QQQ““Q““ al

3D

Moon Kitchen 2.0 A2-55 Assembly instructions | 17



Version with perforation

3D

18 | Moon Kitchen 2.0 A2-55 Assembly instructions



Allen

Spanner

g

M5x12
pcs 2x

NS-L W M5
pcs 2x

N

\ \
A
B\
N
B
®
22 \\ NN
S \\ (H,u“‘ D)

3D

Moon Kitchen 2.0 A2-55 Assembly instructions | 19




Version with perforation

WY

3D

20 | Moon Kitchen 2.0 A2-55 Assembly instructions



v
M5x12 NS-L W M5 ﬂ

Ste p 6 Allen Spanner pcs 8x pcs 8x

V4.U12F

N\,

2

3D

Moon Kitchen 2.0 A2-55 Assembly instructions | 21



Version with perforation

V4.U12P

V4.U13P

3D

22 | Moon Kitchen 2.0 A2-55 Assembly instructions



x

M5x12 NS-L W M5
Ste p 7 Allen Spanner pcs 10x pcs 10x

V4.U10F

V4.U12F

R 0 0 0 00
Loooano®
R
XELE]
cpoooaeee (@

N

J9)
>N\
e
< w.‘g IN

RN
ceoao®
6000000

=

T

‘ 3D

Moon Kitchen 2.0 A2-55 Assembly instructions | 23



Version with perforation

V4.U10P

V4.U11P

D <
Q05000

0o o9
%““m“

N

3D

24 | Moon Kitchen 2.0 A2-55 Assembly instructions



3
5 ® ¢ 9 a

Ste p 8 Allen Spanner pcs 12x pcs 12x

V4.U12F \/’

f”‘
)

V4.U13F

900094,
P
o

3D

Moon Kitchen 2.0 A2-55 Assembly instructions | 25



Version with perforation

V4.U12p

3D

26 | Moon Kitchen 2.0 A2-55 Assembly instructions



TXRR
souonoRe
. @o0b®00
480000
BEEN
XX
AN

Screwdriver

il

WSS 4,2x13
pcs 18x

M

s
cob
Qoboe
guooee®
ceuo0Oe0®
goobees
P R
cooouon 9oee
gyooapouodel
ceocoupoeesd
R ERRA
cogay 900e
Qpu0OEBd
W« AXEEN
s0000%

R

ERNY
o

XYY

o

Moon Kitch
en 2.0 A2-55 Assembly instructions | 27



Version with perforation ﬂ

V4.UL2P )
V@ggg

N S

28 | Moon Kitchen 2.0 A2-55 Assembly instructions



Step 10

Allen

&

Spanner

Allen

Spanner

M5x12
pcs 3x

@)

NS-L W M5
pcs 3x

3D

Moon Kitchen 2.0 A2-55 Assembly instructions | 29




Step 13

Allen

Spanner

M5x12
pcs 3x

NS-L W M5
pcs 3x

V4.U15

3D

30 | Moon Kitchen 2.0 A2-55 Assembly instructions




Step 14 St @

e p 15 Allen Spanner

pcs 6x

55.DB 450

Allen

Y

Spanner

-~

M5x12
pcs 6x

NS-L W M5
pcs 6x

Moon Kitchen 2.0 A2-55 Assembly instructions | 31



Step 16

o

o
)

ceeee
000089
ceogeeee®

. @B80®00
REXERN
RIRN
XYY
RN

Seope ool
Q00000
XL EN

32 | Moon Ki
itchen 2.0 A2-55 Assembly instructions



Version with perforation ﬂ

N
o
Q
Q .
%%QQ S
. S8
Y Q%QQQ“ N
BN N J b
Q QQ o %%%QQ N <
QQQQQQ %% s
NSRS QQQ ° O NI
N0 % .
Q0
“QQgQQ ‘ " 1 2 ©,
° Q Q ) _
RERORO ¢ [l
. . %Q%% :‘2
"% . N “mmw 0
Q S iesosody
?Q :QQ%Q N . 9 b
os Q| Qg SR

3D

Moon Kitchen 2.0 A2-55 Assembly instructions | 33



MOONKITCHEN 2.0 A2-55

Shelves

34 | Moon Kitchen 2.0 A2-55 Assembly instructions



A\ P

M5x12 NS-L W M5
Ste p 1 Allen Spanner pcs 3x pcs 3x

4
) Pl /
&
2 B
1
17/
o . [/v
00 a
o [}
A~
o
o
r
0 9
[z
a

SH

Moon Kitchen 2.0 A2-55 Assembly instructions | 35



Version with perforation

V4.Ul13p

S
L Y

N

A0 00 900004,
00””0000900
9900000g9,,
9000055, ,,
000 %4,,,
200004,

L)

SH

36 | Moon Kitchen 2.0 A2-55 Assembly instructions



Step 2 Allen

Spanner

g

M5x12
pcs 2x

NS-L W M5
pcs 2x

V4.Ul12F

SH

Moon Kitchen 2.0 A2-55 Assembly instructions | 37




Version with perforation

V4.U12pP

o

o

=

o

SH

38 | Moon Kitchen 2.0 A2-55 Assembly instructions



Allen

Spanner

A

M5x12
pcs 8x

NS-L W M5
pcs 8x

SH

Moon Kitchen 2.0 A2-55 Assembly instructions | 39




Version with perforation

SH

40 | Moon Kitchen 2.0 A2-55 Assembly instructions



x

Step 4 Allen Spanner

A

M5x12
pcs 3x

NS-L W M5
pcs 3x

V4.U10F

SH

Moon Kitchen 2.0 A2-55 Assembly instructions | 41




Version with perforation

o

y

0 0o %0 o

SH

42 | Moon Kitchen 2.0 A2-55 Assembly instructions



x

Step 5 Allen Spanner

NS-L W M5
pcs 10x

‘ SH

Moon Kitchen 2.0 A2-55 Assembly instructions | 43



Version with perforation

. ©000®00
400000
INCEY
“oo0®
VLR

o

SH

44 | Moon Kitchen 2.0 A2-55 Assembly instructions



‘ ‘ M5x12

NS-L W M5
Ste p 6 Allen Spanner pcs 2x pcs 2x
V4.U12F
V4.U10F B
) g
¢
4
o
&
¢

SH

Moon Kitchen 2.0 A2-55 Assembly instructions | 45



Version with perforation

V4.U12P

V4.U13P

< o0
© 9 0000080404,

00000004,

006054,
900 a0
o
0000060,, S e, P 20000
sao0g e® o
- 5%
(=] 0

{
]
s

SH

46 | Moon Kitchen 2.0 A2-55 Assembly instructions



A\

M5x12 NS-LW M5
Ste p 7 Allen Spanner pcs 4x pcs 4x

V4.U12F

V4.,U13F

Moon Kitchen 2.0 A2-55 Assembly instructions | 47



Version with perforation

V4.U12p

V4.U13P

48 | Moon Kitchen 2.0 A2-55 Assembly instructions



o ® ¢ 9

Ste p 8 Allen Spanner pcs 4x pcs 4x

4

o

Iy
?0s0p
200009,
©000000,,

SH

Moon Kitchen 2.0 A2-55 Assembly instructions | 49



Version with perforation

0

/ -
Vol

/0 VA.U10P

0"

SH

50 | Moon Kitchen 2.0 A2-55 Assembly instructions



Q ¢
M5x12 NS-L W M5 ﬂ

Ste p 9 Allen Spanner pcs 18x pcs 18x

V4.U13F

4

o

000
0009
200004,
9000094,4,

90000000,,9

20006055,

9000060,,

000009,
o

Moon Kitchen 2.0 A2-55 Assembly instructions | 51



Version with perforation

200009,
2

SH

52 | Moon Kitchen 2.0 A2-55 Assembly instructions



Step 10

Z

Screwdriver

WSS 4,2x13

i

pcs 18x

V4

Y

°

ces

IXERR

X RN
cenvevone
cagoooeoeoss
“quﬁvnmeevﬁ“
cooosan o0

geoooe®

sopopoeet®
cooesd 990
cegueneont
tooouoan®

gevooeetd

d

V4.U11F

)
Y
cen
suud
coeot
YRR

o000 0®
YRR
sooend

XX R
LR

Moon Kitch
en 2.0 A2-55 Assembly instructions | 53




Version with perforation ﬂ

V4.U11P

“Qgﬁuonnub°
cogpe® 0800
SRR
. ©0UBLO
408000
IR
“sane
VR
o

54 | Moon Kitchen 2.0 A2-55 Assembly instructions



MOONKITCHEN 2.0 A2-55 Cen

Countertop for sink

CS

Moon Kitchen 2.0 A2-55 Assembly instructions | 55



P

<

Step 1 Silicone

55.CS

CS

56 | Moon Kitchen 2.0 A2-55 Assembly instructions



T ol

WSS 4,2x13
Ste p 2 Screwdriver pcs 18x

V4.U11lF

o000a0
gooo000eel
v cp0oooeol
e coeooo0l
o
XX
vesoe
cooe8b e
ce000000® .
sovooooeee
©
°

Moon Kitchen 2.0 A2-55 Assembly instructions | 57



Version with perforation ﬂ

V4.U11P

Josspoouc®

S
coo0 6 ool ®
PP RN
coouvoeee®
‘Q“ecovv0

4

qoooovel
., eeee0®
I ELE

., e800R00

MEELE
Leecs
IXEE
Leeee
X

LR
CERY

58 | Moon Ki
itchen 2.0 A2-55 Assembly instructions



MOONKITCHEN 2.0 A2-55

Full door 3/3 opening to the right side

DF-R

Moon Kitchen 2.0 A2-55 Assembly instructions | 59



Step 1 Allen

Spanner

g

M4x10
pcs 8x

NS-L W M4
pcs 8x

55.C

55.H

DF-R

60 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation

55.C

DF-R

Moon Kitchen 2.0 A2-55 Assembly instructions | 61



Y

Step 2 Allen

Spanner

55.C

3 55.FL-R . s
y B
®
1/
V4.U12F ¢ ’
. >
V4.UL3F
55.H
) o )3
N I
o o
. )

62 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation

55.C

/7

7

55.H

55.FL-R

DF-R

Moon Kitchen 2.0 A2-55 Assembly instructions | 63



Version without perforation Version with perforation ﬂ

o

DF-R

64 | Moon Kitchen 2.0 A2-55 Assembly instructions



MOONKITCHEN 2.0 A2-55

Full door 3/3 opening to the left side

DF-L

Moon Kitchen 2.0 A2-55 Assembly instructions | 65



) NN
N @ ¢
M4x10 NS-L W M4
Ste p 1 Allen Spanner pcs 8x pcs 8x
55.C

55.H

DF-L

66 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation

55.C

Z

X0
° OOQ./D I
00%0¢ V4.UL0P
90

@

DF-L

Moon Kitchen 2.0 A2-55 Assembly instructions | 67



Step 2 Allen Spanner

M4x10
pcs 8x

55.FL-L

55.C

i

4

o
200

2060,
900800,
900004054,
200400000,,
02%0080044,,,
@900 2206040,

V4.U10F

Y

) R

68 | Moon Kitchen 2.0 A2-55 Assembly instructions




Version with perforation

55.C

55.FL-L

Moon Kitchen 2.0 A2-55 Assembly instructions | 69



Version without perforation Version with perforation ﬂ

DF-L

70 | Moon Kitchen 2.0 A2-55 Assembly instructions



MOONKITCHEN 2.0 A2-55

Flap/hinged doors

Moon Kitchen 2.0 A2-55 Assembly instructions | 71



M4x10 NS-L W M4
Ste p 1 Allen Spanner pcs 8x pcs 8x

72 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation m

55.C

<

Y

@SSC/JQ ‘
V4.U12P Q%Q
©

Moon Kitchen 2.0 A2-55 Assembly instructions | 73



Y

P

M4x10
Step 2 Allen Spanner pcsx8><
55.C
: S

V4.U12F

55.FS

74 | Moon Kitchen 2.0 A2-55 Assembly instructions




Version with perforation

55.C

55.FS

Moon Kitchen 2.0 A2-55 Assembly instructions | 75




MOONKITCHEN 2.0 A2-55

Doors 2/3 opening to the right side

DS-R

76 | Moon Kitchen 2.0 A2-55 Assembly instructions



Step 1

Y

Allen Spanner

g

M4x10
pcs 8x

NS-L W M4
pcs 8x

1/

V4.,U12F

AN\

55.C

55.FS

55.H

DS-R

Moon Kitchen 2.0 A2-55 Assembly instructions | 77



Version with perforation

55.C

55.FS

55.H

DS-R

78 | Moon Kitchen 2.0 A2-55 Assembly instructions



Step 2

Allen

Spanner

55.C

55.FS

<

o
ves
cveoe
cogeoeed

seouooonE
mn“qmwvh““

e

DS-R

Moon Kitchen 2.0 A2-55 Assembly instructions | 79



Version with perforation

55.C

XY
GosoaEoed
N L
Conoed 8800
GuouB RO
, ee0e0®
LR ®
0000
cou®
L_se®
°

55.FS

LX)
ceR000000
touoneusoed
cooopooeeonee

Got® ooes
cpoooooueand
I e

soogovoeont N

eeootd 9vel
oo uel
. souBol

N

80 | Moon Ki
itchen 2.0 A2-55 Assembly instructi
ons




W

44
___

<

P A L
copcuet 90%E

I L
cobot

PTEETE
cogopeoooe®
coobs G099
Q00 eed ¢
. eeupol
XA
RERN
XY
C_oo0

DS-R

Moon Ki
n Kitchen 2.0 A2-55 Assembly instructions | 81



MOONKITCHEN 2.0 A2-55

Doors 2/3 opening to the left side

DS-L

82 | Moon Kitchen 2.0 A2-55 Assembly instructions



SRECI
M4x10 NS-L W M4
Ste p 1 Allen Spanner pcsx8x pcs 8x
55.C

55.FS \

. DS-L

Moon Kitchen 2.0 A2-55 Assembly instructions | 83



Version with perforation

55.C

N

Z

el

0880 V4.U10P

DS-L

84 | Moon Kitchen 2.0 A2-55 Assembly instructions



Step 2

x

Allen

Spanner

M4x10
pcs 8x

55.FS

55.C

i o
} &
V4.U11F
4
4
4
2
400 °
e
®age
©000040, 9004,
90000,.°° 006000,
20060 90000054,
20040,
00
”9000509400”0
9000 055,,50°
00
90000000,,,,
”’aoaaopagﬂ
o 900000404,,
2000 450,
2200054,
000064 .
20000,
a0ag
2000
009 1

DS-L

Moon Kitchen 2.0 A2-55 Assembly instructions | 85



Version with perforation m

55.C

Y-

=

"0
55.FS ] 0\09»0 o
N . 0990 va.ut0P

0
Ql \H0%p| 7 .
2 00 0@

2 Cﬂj ,\(70 C)cjcv

0p0° Va.U11P 0950

00 - OUQQOQQ

0000 05,0
9000000,
209065

86 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version without perforation Version with perforation

; =
00
N R 0008809
| | 0] 59
.' .’ - 0000 2 P
174 2 O Oo 0
0%09 0%
20° 2095093
o e e ? OQQOOa P
0 QOO i’
. OOOgQ@ 0
. H0Y0920° ’
5557
70 . .
)| - TR )
o 0% 0%
. o o | QY YT A
vos Q .o
2096197
0008000 IR
020 AN
oY o0 inizesasiils
) 2 007 |
(9@ wazn°f
4 2
2

DS-L

Moon Kitchen 2.0 A2-55 Assembly instructions | 87



MOONKITCHEN 2.0 A2-55

Flap/hinged doors and 2 drawers

88 | Moon Kitchen 2.0 A2-55 Assembly instructions



A F

M5x12 NS-L W M5
Ste p 1 Allen Spanner X

pcs 5x pcs 5x

V4.U12F

V4.U13F )
< ’ [ﬁ«f
% a ’
: . =
. k) ’
- 2 "
I 2

F+2D

Moon Kitchen 2.0 A2-55 Assembly instructions | 89



Version with perforation

L PN

B

F+2D

90 | Moon Kitchen 2.0 A2-55 Assembly instructions



A F

M5x12 NS-L W M5
Ste p 2 Allen Spanner pcs 10x pcs 10x

V4.U12F

V4.U13F

F+2D

Moon Kitchen 2.0 A2-55 Assembly instructions | 91



Version with perforation

V4.U12P

V4.U13P

F+2D

92 | Moon Kitchen 2.0 A2-55 Assembly instructions



’
M5x12 NS-L W M5

Ste p 3 Allen Spanner pcs 2x pcs 2x

V4.U12F

V4.U13F

F+2D

Moon Kitchen 2.0 A2-55 Assembly instructions | 93



Version with perforation

V4.U12P

V4.U13P

F+2D

94 | Moon Kitchen 2.0 A2-55 Assembly instructions



M5x12 NS-L W M5

Ste p 4 Allen Spanner pcs 8x pcs 8x

F+2D

Moon Kitchen 2.0 A2-55 Assembly instructions | 95



Version with perforation

V4.Ul12p

F+2D

96 | Moon Kitchen 2.0 A2-55 Assembly instructions



Step 5

x

Allen

Spanner

A

M5x12
pcs 5x

NS-L W M5
pcs 5x

V4.U11F

F+2D

Moon Kitchen 2.0 A2-55 Assembly instructions | 97




Version with perforation

Jy

F+2D

98 | Moon Kitchen 2.0 A2-55 Assembly instructions



A P

M5x12 NS-L W M5
Ste p 6 Allen Spanner pcs 10x pcs 10x

F+2D

Moon Kitchen 2.0 A2-55 Assembly instructions | 99



Version with perforation

V4.U10P

F+2D

100 | Moon Kitchen 2.0 A2-55 Assembly instructions



x

M5x12 NS-L W M5
Ste p 7 Allen Spanner pcs 10x pcs 10x

V4.U10F

V4,U1lF

T

F+2D

Moon Kitchen 2.0 A2-55 Assembly instructions | 101



Version with perforation

V4.U10P

F+2D

102 | Moon Kitchen 2.0 A2-55 Assembly instructions



A\

M5x12 NS-LW M5
Ste p 8 Allen Spanner pcs 4x pcs 4x

V4.U13F

Moon Kitchen 2.0 A2-55 Assembly instructions | 103



Version with perforation

7

N 0 osag

~ Qo0

¥

° o
/ o > V J

2000454,
o

104 | Moon Kitchen 2.0 A2-55 Assembly instructions




{ \\\ N
@ ‘
M5x12 NS-L W M5

Ste p 9 Allen Spanner pcs 14x pcs 14x

0009
J0000

F+2D

Moon Kitchen 2.0 A2-55 Assembly instructions | 105



Version with perforation

200009,
H
.

200000,
.

F+2D

106 | Moon Kitchen 2.0 A2-55 Assembly instructions



T o

WSS 4,2
Ste p 10 Screwdriver pcs418)>(<13

V4.U11F

Moon Kitchen 2.0 A2-55 Assembly instructions | 107



Version with perforation

V4.U11P

e o

gooeoQeD®

Qe
ooy

108 | Moon Kitchen 2.0 A2-55 Assembly instructions



Step

11

M4x10 NS-L W M4

Allen

Spanner pcs 8x pcs 8x

55.C

X

®

L/

V4.U12F

:

V4.U13F

F+2D

Moon Kitchen 2.0 A2-55 Assembly instructions | 109



Version with perforation

55.C

X

<

Q

V4.U12pP bggg

.
. 9 QJSQ
Oy 170
00, V4.

F+2D

110 | Moon Kitchen 2.0 A2-55 Assembly instructions



A »
M4x10

Ste p 12 Allen Spanner pcs 8x

X

M

1/

V4.,U12F

Moon Kitchen 2.0 A2-55 Assembly instructions | 111



Version with perforation

55.C

X

<

| OS

V4.U12P JQSQ

coo0000e
. ©800B0T
200000
R
"ooe®
VAR

o

112 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version without perforation Version with perforation ﬂ

F+2D

Moon Kitchen 2.0 A2-55 Assembly instructions | 113



Step 13

Allen Allen
Spanner Spanner

M5x12
pcs 3x

NS-L W M5
pcs 3x

F+2D

114 | Moon Kitchen 2.0 A2-55 Assembly instructions



Allen

Spanner

-

M5x12
pcs 3x

NS-L W M5
pcs 3x

Step 16

V4.U15

F+2D

Moon Kitchen 2.0 A2-55 Assembly instructions | 115



T M5x12

Ste p 18 Allen Spanner pcs 6x

55.DB 450

Spanner

g

M5x12
pcs 6x

|
i

NS-L W M5
pcs 6x

116 | Moon Kitchen 2.0 A2-55 Assembly instructions



Step 19

®

°

X}
IR
geoBBel
geonbQOO®
po0o®000

__

F+2D

Moon Kitchen 2.0 A2-55 Assembly instructions | 117



Version with perforation ﬂ

/),

oD
[ay=
DO -
o
&3
8]
V4
_

u‘a

B Q ©
E\Q:QS%Q
NN Q

o000
peoo000s

°0
co00E0
ves Y

7]
o0
2]
O
2]
o
O )
-—

o

. eeoeldl
EILER
son e
“onve
LR

o

o
o
o &
o e
e
o
E0
e -
—\}

. F+2D

118 | Moon Kitchen 2.0 A2-55 Assembly instructions



MOONKITCHEN 2.0 A2-55 (e

Drawer

D

Moon Kitchen 2.0 A2-55 Assembly instructions | 119



A 5 g

M5x12 NS-LW M5
Ste p 1 Allen Spanner pcs 4x pcs 4x

V4.U12F

120 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation ﬂ

V4.U13P

v R oo

B

D

Moon Kitchen 2.0 A2-55 Assembly instructions | 121



N\ g

M5x12 NS-L W M5
Ste p 2 Allen Spanner pcs 6x pcs 6x

122 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation ﬂ

D

Moon Kitchen 2.0 A2-55 Assembly instructions | 123



M5x12 NS-LW M5

Ste p 3 Allen Spanner pcs 2x pcs 2x

124 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation ﬂ

D

Moon Kitchen 2.0 A2-55 Assembly instructions | 125



M5x12 NS-LW M5

Ste p 4 Allen Spanner pcs 8x pcs 8x

f

AN/ ———\\!

126 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation ﬂ

V4.U12P

V4.U13P

NN =N

D

Moon Kitchen 2.0 A2-55 Assembly instructions | 127



N\ g

M5x12 NS-LW M5
Ste p 5 Allen Spanner pcs 4x pcs 4x

V4.U11F

\Q
N o :
S “Q
[ S
™ N
N
N
Y <

128 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation ﬂ

D

Moon Kitchen 2.0 A2-55 Assembly instructions | 129



x

M5x12 NS-L W M5
Ste p 6 Allen Spanner pcs 6x pcs 6x

130 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation ﬂ

D

Moon Kitchen 2.0 A2-55 Assembly instructions | 131



N

M5x12
Step 7 Allen Spanner pch10x

NS-L W M5
pcs 10x

V4.U10F

cpo00eeod
°
“gQ&»%Q IS
N\ 0o00e8e®
® O
<
2
©
Y

V4.U11F

132 | Moon Kitchen 2.0 A2-55 Assembly instructions




Version with perforation ﬂ

D

Moon Kitchen 2.0 A2-55 Assembly instructions | 133



NS-LW M5
M5x12

pcs 2x
Spanner pcs 2x

Allen

Step 8

V4.U12F

)
¢ ” ] ,;:; ¢
2 00002/?
, . f’f‘
5 0000000 “
4 0000000000
; Q| 29900000,545°
‘o N0 0000,,,
200005044,
Pl 0000000,,,
0009000000
‘000 2009,
% 200004, & &
0000, 0
& 2000, Ly
0 2loo 7 bl s0s00
vo0 ~ 200004,
9004, 9000005,
200000, 9000005,,,
000000009 0090'09040000
09000, 9000 6500,
©900005000,,
009000000000

9000 405,,,

g 22000000,,,

20006609,,

0000060,,

2990004,
.

i ctions
Kitchen 2.0 A2-55 Assembly instru
134 | Moon



Version with perforation ﬂ

90000004, 45%
00000004504,,
A0 %0 5,,000

2900000,04,

0
o) 200000,
0
0

O
Q
Q
QS
Q
(=4
S}
N
Q@
Q
Q@
(%)
Q
Q

N

2000000,,,

j&eﬂj " 200 %, ,,,

00000,,

N vlf\ic N

20

P 509;0”5”
2000040,,

0004400
e

’ D

Moon Kitchen 2.0 A2-55 Assembly instructions | 135



M5x12 NS-LW M5
Ste p 9 Allen Spanner pcs 4x pcs 4x

V4,U12F

V4.U13F

136 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation ﬂ

Moon Kitchen 2.0 A2-55 Assembly instructions | 137



M5x12 NS-LW M5

Ste p 10 Allen Spanner pcs 16x pcs 16x

V4.Ul12F

138 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation ﬂ

Moon Kitchen 2.0 A2-55 Assembly instructions | 139



‘ WSS 4,2x13 ﬂ

Screwdriver pcs 18x

Step 11

V4.U11F

V4.U12F

°

°

IR

cavot

TSR

uov““““°““n
XY

QHQNQQQQ.QNQQ

140 | Moon Kitchen 2.0 A2-55 Assembly instructions



Version with perforation

V4.U11P

R

S

ecuﬁ‘“QQQQ IS

NTERNY

NPT
o

Moon Kitchen 2.0 A2-55 Assembly instructions | 141




Step 12

Allen Allen
Spanner Spanner

M5x12
pcs 3x

5

NS-L W M5
pcs 3x

142 | Moon Kitchen 2.0 A2-55 Assembly instructions




Allen

Spanner

-

M5x12
pcs 3x

NS-L W M5
pcs 3x

Step 15

V4.U15

Moon Kitchen 2.0 A2-55 Assembly instructions | 143




S
A *
Step 16 ‘ @

M5x12
Spanner pcs 6x

55.DB 450

Spanner

M5x12
pcs 6x

|

NS-L W M5 s
pcs 6x

144 | Moon Kitchen 2.0 A2-55 Assembly instructions



Step 18 ﬂ

Moon Kitchen 2.0 A2-55 Assembly instructions | 145



Version with perforation

146 | Moon Kitchen 2.0 A2-55 Assembly instructions



INformation on use

Cleaning

Wash by hand. Rinse the soiled area thoroughly with clean water and sponge
wipe gently with a mild detergent.

Do not use bleach, iron or heat drying. The product is not machine washable.

Remove all items from Moon Kitchen 2.0 before cleaning.

O 2 KA e

Composition

100% polyester, PVC-FLAT coating,

aluminium, polypropylene sheet

Transport and storage

The products are packed in cardboard outer packaging.
During transport, they should be placed horizontally or vertically.

They should be transported in their original packaging.

Package disposal

The packaging is made of recyclable cardboard and should therefore not be
thrown away, but deposited in the landfill in the waste paper bins or special
containers for cardboard packaging.

Safety precautions

Make sure you read and understand the instructions before using the Moon
Kitchen 2.0.

After installation, it is advisable to check the fixing of the Moon Kitchen 2.0 by
pulling the whole structure firmly.

Do not leave the Moon Kitchen 2.0 in direct sunlight - this can cause the
material to fade.

However, this does not change the mechanical properties of the material.
Do not use an open flame close to the Moon Kitchen 2.0.

Protect against moisture.

Do not load Moon Kitchen 2.0 above the recommended maximum weight.

Do not use any sharp objects, such as knives, screwdrivers, etc., to remove the
outer packaging.

Moon Kitchen 2.0 A2-55 Assembly instructions | 147




www.vandermoon.com

Contact

tel. +48 18 442 33 69
shop@vandermoon.com

Van der Moon® is a registered trademark of the Vitberg Sikora Jacek.
© Vitberg Sikora Jacek — all rights reserved.
Made in Poland.

ver. IM VDM MK 2.0 A2-55 01/01/2024 EN



